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LG 5 T lf 1 1,2 0,5 300 40
R G  2,4 D 1 T lf 2 2,4 0,1 100 15
R G  2,4 D 10 Tlf 3 2,4 0,15 500 5
R G N  1503 T lf 4 2,5 1,5 300 75
2 S/4 S amer 5 2,5 1,3 50 40
3 G 130 T K D 4 2,5 1,3 250 60
8 N G Low 4 2,5 1 300 80
509 Phi 4 2 4 180 100
1200 Fot 4 1,8 2,8 160 100
1700 Phi 4 2 1,8 180 30
1702 Phi 4 1,8 2,8 185 200

E q u i v a l e n t s

G 128 AEG RGN 1503 VG 250 Sei __ RGN 1503
G 1503 Val = RGN 1503 VG 2908 Hog = RGN 1503
G 2200 Val = 1702 2 NG Low = RGN 1503
G 3140 Phi = RGN 1503 2 S amer = 2 S/4 S
K L  76302 Kgf - RGN 1503 3 G 10 TKD = RGN 1503
R 33 Rtn = 1702 3 G 15 TKD = RGN 1503
R 202 Tu = 1200 3 G 310 TKD = RGN 1503
R 204 Rec = 1702 4 S amer = 2 S/4 S
R G N  1201 Tlf = RGN 1503 1201 Phi = RGN 1503
RO 337 Rtn = RGN 1503 76302 Kgf = RGN 1503


